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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

TeqTelt Fewer A0 Y9 99 W A 31 TaEd: oid |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

T UF BRI 9SS ®UNR A WHR H T / IR/ SRETH™
TH TR &Y AT % T 1 TE A

If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

[T U9 B 3T & | U HHH 23 I 24 H AT IH gehed ¢ |

All the questions are compulsory. There are internal choices in
Question Nos. 23 and 24.

T TR I I Al e II-GRAF H & AqG |

Write the answer to each question in the given answer-book only.
ST UV % U U ¥k UM 3 ATt A0 €, 34 Qe 9 H EA h
g Faq o |
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For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

6. U T 2 ¥ 5 % AT TIRIHS T & STh U IR AT
20 TS H, T €T 6 ¥ 13 TF TIF I 30 R H, A T 14
¥ 21 TF TAF I AT 50 VR H qAT U T 22 F 24 Th
T STR O 3 Y3 H Y |
Question Nos. 2 to 5 are very short answer type to be answered in
20 words each, Question Nos. 6 to 13 in 30 words each,
Question Nos. 14 to 21 in 50 words each and Question Nos. 22
to 24 in 3 pages each.

7. W HHEMR 1 % °R A (i, ii, i T iv) §| T&® 9 % IW % 9R
FHEA (A, &, WU T ) &1 W THeT H IR IR-YRaew H
AR dqr efehl gy T @U

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

given below :

YT HHIE el AT FHT HHER

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

1. (iii)

1. (iv)

1. () 99 T 374 ITAN eIl &, 98 HF TR &
(3) ©HEFE FY () WEFY
(¥) Ted qad F Y (}) ANHFY |
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Agriculture in which more labour is used is
(A) Shifting agriculture

(B) Permanent agriculture

(C) Intensive subsistence agriculture

(D) Commercial agriculture. Py

(i)  TE D HHA B Ad GHT TH H G RA-H AT H AR € ?
(31) 10°C- 15°C () 20°C -26°C
(") 30°C -40°C () 5°C-10°C.

Which of the following temperatures is required at the time of

wheat sowing ?

(A) 10°C-15°C (B) 20°C-26°C

(C) 30°C-40°C (D) 5°C-10°C. %
(i) HUNH & SR H Tl ¥ Hecgul HR HIH-91 & ?

(37) 3T YFH A I SMALIHRA

(@) guared gH

(¥) TR = A

(%) 200 I AT TEA B |

Which is the most important factor in cotton production ?

(A)  Plentiful supply of water

(B) Flowing surface

(C) Requirement of manure

(D) 200 frost-free days. %
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(iv) I O URR ST U % SR H hed Al & ® H UG &l §, 98

g
(31) <Are-zed (I HH=
(@ = (8) Ul |

The industry in which limestone is used as raw material, is

(A) Iron and steel (B) Cement
(C) Sugar (D) Textile. %
2.  YRd ¥ TiEl Y Fol G HaAl € ?
How many villages are there in India ? %
3. % &l § gOThR T A T aET o T el § ?
In which areas circular settlement patterns have been developed ? %
4,  3NYF STHUEAT TF oA & oA H AF AT |
Write the names of two states of high growth of population. %
5. YRAH O H T A g ASH Ud IS Al o AT hal & ?
What are the minimum marriageable ages of boys and girls in India ?
1 1 1
— + — = —
4 4 2
6.  TIHIUNY TAET FT ¢ ? I IIEIVN F T H AT
What are renewable resources ? Explain with two examples. % + % =1
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11.

12.

13.

14.

15.

5
o1q 1 3FF TR YA UM H AH Hl Y I T Fed & 2 Uh SR
A |

Which is the method in which a metal can be reused many times ?
1 1

Give an example. 2 + 2 =1
YT I A Td 3G & YEl B AGY |
Write the effects of excessive and inadequate rainfall. % + % =1

IRA H I ST Sl HASR 7T % 3 HROT AGT |

Write any two causes for the poor conditions of animal resources in

India. Lol
2 2

SHel TeEs AT o 3 e Asd A G |

Write two main objections of tenth Five-Year Plan. % + % =1

ORA | TS ek AT & U 3 SRS HRUT A GU |

. . . . cpe s .1 1
Write two causes responsible for regional diversities in India. > + > =1

TGeT FE IWH O U I A § 2 TR IART F P UH TG & B
TH TG |

Tungsten is obtained from which ore ? Write the name of any one main
1 1

roducing area. —+ ==1
P & 2 2
T TS & IS & Heed A QT |
Write any two importance of Chambal project. % + % =1

TehI0T 3T Yo 9 Ped & 7 TR 3 AT A ET |

What is an isolated settlement ? Write its two characteristies. 1 + 1 =2
SHEAT 1 AN F Fed € 2 IR H =AM g % & TS HROT
“TEu |

What is sex ratio of population ? Write two main reasons for low sex

ratio in India. 1+1=2
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17.

18.

19.

20.

21.

22.

6

TRA | 3= SHEEIT T o 0T 1 & ? 8l IR HRUN hl T @T |

What are the reasons of high density of population in India ? Write any

1 1 1 1
four reasons. —+ 4+ +-=9

2 2 2 2

TR &1 TG-AH = 96 1T SR & & &F 910 |

Draw an outline map of India and locate any two tea producing areas.

1+1 4129
2 2
R H HSh & YHR & 9H A &Y |
Write the names of the types of Indian roads. 2
RAE FF H HlE IR FYTAE A GU |
Write any four characteristics of Indian agriculture.
1,1,1,1_,
2 2 2 2
TrEIET HET T IS T el I1ET Ud 399 §f §fY dfed i 5e |
Draw a sketch of Chambal Valley project and mark two dams on it.
1+ X419
T[T § SR TR 6 &1 HIAHAT T IO Sl ST |
Describe any two programmes of dairy development in Rajasthan.
1+1=2

IRA | Tt & IR HI A IMehi o =TI I h ST
(i) HITA P TR

()  PIFA BT ITAMT
(i) ST &
(iv) SR |
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24.

7

Describe the production of coal in India under the following heads :

(i) Types of coal

(ii) Uses of coal
(iii) Producing areas
(iv) Trade. 11 + Ly 11 + 1 =4

T[T § gl o ST el WH= SENT T 9UE e IS o Siad
Y :

Q) CEaR]
() TG HR
(i) —EHEM.

Describe the cotton textile industry or cement industry of Rajasthan

under the following heads :

(i) Development
(i) Important centres
(iii) Problems. 1+2+1=4

TS I SUTAIST @ T F AT € 2 IR H WS 9k A5G T B ' Fed
D: FHIAHHT Hl T B ST |

el

TS T W T T I & ? 9IRA § RS 3o o Feel S0 J I HREHHT
T IO H AT |

What do you mean by regional disparities ? Discuss any six

programmes for the eradication of regional disparities. 1 + (6 X é) =4

OR
What do you mean by poverty line ? Discuss any six special

programmes for removal of poverty. 1+(6X %) =4
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